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1. If the distance of a point from a positive charge increase, the value of
the potential at the point
a) Increase b) decrease c) may increase or decrease d) remain
the same
e ¢ ST ¥ foedt foig o1 g3 96 el 8, <l foig W fava s1am
a) §¢ THdl § b) U Tl §
¢) 96 T THAT d) d61 e
2. Two charges spheres are separated at a distance d exert a force F on each other. If
charges are doubled and distance between them is doubled then the force is
(a)F (b)F/2 (c)F/4 (d) 4F
3l 3T ITe e Teh R UR d G2t UR USh G TR F & 1Tl o | Af Sasi b
ST R (3T SIT 3R IS S I g2t SR R & oYl 7 1M
(a)F (b)F/2 (c) F/4 (d) 4F
3. The relation between electric field E and potential V is

=-dV/dx
E= dV/dx
V=dE/dx
. V=dE/dv
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E= - dV/dx
E= dV/dx
V= dE/dx

V= dE/dv
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. A positively charge glass rod attract an object. The object must be
(a) Negatively charged (b)neutral
(c) either negatively charged or neutral  (d) a magnet

TS YA BT Bt TS bl avg BT AT Bl 8| IXG BT AMBY
(a) FEUT AT OEEIEINS]
(c) 0T AR AT AR (d) Uh Jab

. If a dielectric be introduced between plates of a parallel plate capacitor
then the value of its capacitance-

a)Decreases b)Increases

c)Remains same d)None

Ife T TR We TR 1 Wil & sid T URIdGgd STl oY ol 39! a1
& -

a) UedT g b) ¥GdT &
¢) TEI BT S d) BIS -Te!
. Ohm’s law is valid when the temperature of conductor is :
(a) very low (b) very high
(c) varying (d) constant

3 &7 99 9 9= gidT © O I1dd BT dUHH glal g -

(a) Sgd HH DEREIEED
(c) aRec @iret (d) FRRR
. The example of a non-ohmic resistance is:
(a) copper wire (b) filament lamp
(c) carbon resistor (d) diode
R-3NAH TRy HT ICTERUT 3:

(a) e B IR (b) fOhemie &Y



(c) BT TfcRieh (d) SIS

8. Kirchhoff’s first and second laws for electrical circuits are consequences of:
(a) conservation of energy
(b) conservation of electrical charge and energy respectively
(c) conservation of electric charge
(d) neither conservation of energy nor electric charge

faqgd uftudt & fom feeais & ugd SR gar faw & uRum §:
(a) Bl DT TRET
(b) SPHT: FAGY ST 3R Froif BT AREUT
(c) farqga amarer T W&
(d) T <l STl T TREUT 3R A1 &1 TAGYd STIeT BT ARETOT

9. The number of electrons for one coulomb of charge is

(a)6.25 x10™® (b)6.25 x10*°

(c)6.25 x10%* (d)6.25 x10%
TS Hal1d 3T P 7T SATe -1 ! U 3

(a)6.25 x10™® (b)6.25 x10*°

(c)6.25 x10** (d)6.25 x10%

10. A charge Q is enclosed by a Gaussian spherical surface of radius R. If the radius is
doubled, then the outward electric flux will be
(a) decreases to half (b)increases four times
(b) (c)remains unchanged (d)doubled

T 31T Q AT R B U T3 MATHR ¥de ° fR1 8 | afe B &1 SR R
fear sime, af a8t fagygd uarg g

(a) TTHR 3T B ST & (b) TR T ¢ ST 8
(c) 3Rt g ® CIEHSIEISININ

11. The specific resistance of a rod of copper as compared to that of thin wire of copper

is
(a) Less (b) more (c) same
(d) Depends upon the length and area of cross-section of the wire
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(a) HH (b) 31ferep (c) T&t

(d) TR & U BIe &7 MR g WRaxdrg
12. The Sl unit of the electric flux is

(@)T (b)N (c)v (d)Vm

fIqgd v &1 51 A& §

()T (b)N (c)v (d)Vm

13. A wire P is half the diameter and half the length of a wire Q of similar material. The
ratio of resistances of P to that Q is:
(@)4:1 (b)8:1
(c)2:1 (d)1:2

T dR p AT T 9Td R Q & T T 31T 3R AdTs BT MUTg 1 P 3R QP
gfeRIe o1 3UTd B

(@)a:1 (b)8:1
(c)2:1 (d)1:2

14. Name the material which give less resistance with increase in temperature
a) Gold b) silver c) silicon d) murcury

39 gerf &1 ATH FT2U o dIAH | g & 91 HH IRy Sat |
(a) T (b) Tict () RfeIpI  (d) TR

15. An electron enters perpendicular to a uniform magnetic field. The path of the electron
will be :
a) Circular
b) Parabolic
C) Linear
d) Spiral
U® 3aae 4 THIHM deH 1T &3 & dddd TS Sl o | IadeH &l 9y R

a) g1y
b) RGeS
o) XRa®
d) gitd




16.

17.

18.

19.
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If Ea be the electric field strength of a short dipole at a point on its axial line and’ Ee
that on the equatorial line at the same distance then
(a) Ee=2Ea  (b)Ea=2Ee (c)Ea=Ee (d) none on these

e ‘Ea’ 37O el T IR U foig IR U Bl feydIa $i faggd &3 &1 didhd o
3R ‘Ee’ THM G WR YA AT R B all

a)Ee=2Ea (b)Ea=2Ee (c)Ea=Ee (d)ﬁﬁﬁmqﬁ

Two parallel conductors carrying current in the same direction will
a) Attract each other
b) Repel each other
C) Neither attract nor repel
d) None of these

U g e & YRT Yyafed & aTdl &l YHMHTR I gl

a) T QWX B ATHNd Pt
b) Th GER I U iNd il
o) AN BT BT SR A G Ufapa Bt

d) STH QA PIs B

The unit of capacity of a capacitor will be
a) volt

b) newton
c) farad
d) ampere
TS JTRT o1 41RaT &1 A g
a) diec
b) e
c) IS

d) TR

According to Ampere's circuital law

@ § Bxdr =0 ®) §B.dl

Mol

© §Bxdi =0 @) § B.ar =22
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(@) § Bxdr =0 ®) §B.dl =yl
© §Bxdi=0 (d)}?.f?;:’;—‘::

20. A charge (g) is moving in a uniform magnetic field (B) such that velocity (v) is

perpendicular to B, then the force acting on charge is :

a) Zero
b) qvB
c) qB/v
d) None

Teh 3T (q) Ueb FHI Ib 1Y &7 (B) H TH 8T 8 O fob 97T (v) st b
Taad 8, Y el W e aTel 94 8

a)Zero

b)qvB

c)gB/v

d) 379 A PIS e

21. The expression for Lorentz Force is

22.

23.

(@) F=qE (b) F=q(BxV)

(c) F=q[E+(V*B)] (d) F=[qE+(VxB)]
ARSI g1 & fold Ao §

(@) F=qE (b) F=q(BxV)

(c) F=q[E+(V*B)] (d) F=[qE+(VxB)]

What is the value of angle of dip at the magnetic equator?

a) Qo
b) 900
c) 450
Nearly 30°
Wﬁgﬁﬁ%@mﬂw P01 BT HH T BIdT 872

a) O°
b) 90°
b) 45°

CIITHIT 300

What is the angle of dip at a place where the horizontal

component of earth’s magnetic field is equal to the vertical
component?



c) 45°
d) 90°
o R IR gt & gad1g &7 BT Afds ged IealtR geh & SRI6R §, 39 R
IR 99 HI0T H 52
a) 0°
b) 30°
c) 45°
d) 90°

24. The magnetic lines of force inside a bar magnet:
a) do not exist
b) depends on area of cross-section of bar magnet
c) are from N-pole to S-pole of the magnet
d) are from S-pole to N-pole of the magnet.

TH TS GaP b 3§01 B 9o I Y@
a) Aefe TET &
b) IR GH & IIRT HIc & &8 R AR FaAT 8
c)W%N-gﬂ@fS-gﬂW%
d) 9P & 5-Yd I N-4d dP 5 |

25. Magnetic element of earths are
a) lron, nickel and cobalt
b) Aluminium, silver and gold
c) Three quantities that describes magnetic behaviour of the earth
d) None of these

T b GBI T §
a)dligT, e d iR Plalee
b)TegfHIfTH, Aict 3R T

o) T o gt & G TagR BT gl el §
d)3TH QDI el

26. A 50 mH coil carries a current of 4 A, the energy stored in it in joule in :
a)0.4) b) 4) c) 8 d)0.04)

TP 50 mH Beeh B 4 A D! URT BN €, ITH o[ H TURId Sl gidl 8:

a)0.4 b) 4 c) 8J d)0.04)



27. The polarity of induced emf is found by

a) Biot Savert law b) flemimg’s right hand rule
b) c) Lenz’s law d) Ampere’s circuital law
URG fR]T 918 It BI Yadl frdds §RTUTS STl &
a)STIC Jad &1 fAad b) TRITEH 1 &Tl 81 1 |
¢) 1 B e d) TR &1 uRuy fFam

28. A proton, a deuteron and an a- particle have equal kinetic energies. Compare the
radii of their paths when a normal magnetic field is applied.

(a) [ 2:v/2: 1] (b) [ 1:v/2: 1]
) [1:V2:2] (d) [ 1:1:1]

TS WIeH, T SR 3R Th o-FHUN H JHM TSl Soiid gicil ¢ | 5IF T T
YD & T ST § <Y 37 G T Bioan &1 g1 |

a) [2:/2:1] (b) [ 1:v/2: 1]

(c) [ 1:v2: 2] (d)[1:1:1]

29. A current of 10 A is passing through a long wire which has semicircular loop of the
radius 20 cm as shown in the figure. Magnetic field produced at the centre of the
loop is

20cm
10A

(@)  10muT (b) SmuT
(b)  A4muT (d) 2muT

10A @ YRTUH e dR F ToR a1 & orad 20 T B o1 srefgameR qu § s
o fort o foaman T 8 | U & s H S e 1T &7 §

20cm
10A

(a) 10muT (b) S5muT

(c) 4muT (d) 2muT



30. A current of 2A flows in a system of conductors as shown in fig. The PD (V- Vg) will
be:

(a)+2Vv (b)+1V (c)-1v (d) -2v
A
210 30
D C
2A
3Q 29
B

=TTl &1 Teh YUNTEH | 2A BT YRT UdTfed gidl & ol fob fory & femmar man g1
faWaT=iR  (Va- Vg)) BT

A
2Q 30
D C
2A
3Q 2.9
B
(a)+2v (b)+1V (c)-1v (d) -2V

31. Why is the Wheatstone bridge more accurate than other methods of measuring
resistances:
(a) It is a null method
(b) It is based on Kirchhoff’s laws
(c) It has four resistances
(d) It does not involve ohm’s law

TfeRTEN B ATIA & 31 aXIh] &1 ga-1 | e foret e qéter i g *
(a) TE UH A fafr &
(b) TE foralt HIAI IR SMeTRd §
(0) 3P IR ARRIY §
(d) 3T 31 1 v wfdver TET R




32. Three equal capacitors, each with capacitance C are connected as shown in figure.
Then what is the equivalent capacitance between A and B

(@) C (b) 3C (c)C/3 (d) 3¢C/2

c C

T T e, e @) emRaT ¢ WY S[S U R o fob o | feamar man g
q A SR B. F g Ied UTRAT T 82

A——|C|——| L

C C

(@) C (b) 3C (c)C/3 (d) 3C/2

33. In the basic CsCl crystal structure Cs* and ClI ions are arranged in a bcc configuration
as shown in the fig. the net electrostatics force exerted by eight Cs* ion on the Cl ion
is
csCl e d TREMT H Cs+ 3R Cl- ST &Y bee [0 & rafRy foam St § o
fo for T ARG TAT B | CI- ST TR 3173 Cs+ 3T GRT AN T fRRAgYd

Cs

Cs™*
l EI % + + f)
1 402 Cs \\ Cs
(a) 4men 302 RN LN L7
0 5 \“‘-..:\ cl -
1 16e &
(b) 4mey 3a? PR NN
0 cst| - \\ M ~ A cst
1 32e2
(C) + \\
41ey 3a? Cs
C e
Cs

(d) zero



34. What is the angle between electric field and eqgipotential surface

(a) 90° always (b)0%always
(c) 0° to 90° (d) 0° to 180°
faggd & iR THfava g & S T HI AT ]
(a)90" BHE (b)o* BRI
(c)0° to 90° (d) 0° to 180°

35. When a magnet is moved with its N-pole towards a closed coil, the nearer end of the

coil acts as :
a)North pole b)South pole
c) positive charge d) negative charge

e U P Bl IYP N-Yd P T1Y §¢ UST! DI 3R A ST ST 8, o pusal
BT Fpeadl RR1 39 TR S Rl 8:

a) A ¢ b) Sf&R ¢
¢) YIS AT d) BUTHSD A



